Solutions‘-:Moiarity-ﬁtoichiometry ‘Name

1. What s the molarity of a 225 mL aqueous solution that contains 5.00 g of KOH?
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2. How many grams of KCI do you need to make 250. mL of 0.125

M KClgg?
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3. What s the molarity of a 125 mL aqueous solution that containg 10.0 g of CaCl,?
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4. What is the molarity of Na* ions in 25.0 mL of 3.0 M NagP )7
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5. 35Lof2.0M NaBr(aq) is added t0 1.0 L of 1.0 M CaBry(aqg). Assuming that the
final volume is 4.5, what is the molarity of the B¢ ions in the final solution?
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7. What volume of 12.0 M HCI(ag) is needed to produce 750 mL of 3.0 M HCl(faq)?,
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8. What volume of 16.0 M HNO(aq) is needed to make 225 ML of 1.00 M HNO;(ag)?

8. For'therxn: '-'-#aClg(aq) +2 NaOH *}"-Fe(OH)z(;y—#ZE-NaS'CI(gq, "'I-‘!Iowmany grams-of

Fe(OH). can be produced from 125 mL of 3.00 M NaOHgq?
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9. Forthe nn: FeCly(ag) + Na,COs(aq) > 2 NaCl(aq) + FeCOy(s)
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What mass of precipitate can form from 125 mL of 3.5 M FeCly(aq)?
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